Print date: 18/07/2024

Ergo-Truck 2

Nr.  Item code Description Special instructions Quantity
D3 LC-1000-350-MR Load cell 1000, 350 Ohm, multi-range 4,0
D4  MP-BOLT-M12-40-CYL Bolt M12 x 40 socket head D912 8.8 8,0
D5 MP-BOLT-M12-60-CS Bolt M12 x 60 countersunk din7991, 10.9 4,0
D7  MP-NUT-M12-LOCKNUT Nut M12 lock nut din985 4,0
D8 BA-25.6V-20A-LI-F4 Battery 25,6VDC, 20Ah, Li-lon, for F4 1,0
D15 CH-24V-10A-EPL1531 Charger 24V-10A, for EP EPL1531 truck, EU plug EU Version 1,0
D15 CH-24V-10A-EPL1531-UK Charger 24V-10A, for EP EPL1531 truck, UK plug UK Version 1,0
D16 SAP-HOP-RAV-RAL3000-UPPER Subassembly, Housing upper RAL3000 (incl. bolts and rings) Also order the touch panel needed for your system 1,0
D17 FR-32-RAV-HO-RAV Front panel 3200 RAVAS housing (stp1&2), RAVAS logo 1,0
D18 IN-32-LI Indicator 3200, for Li-lon battery 1,0
D19 EB-32-1AD-S ADC expansion module, 3200 w/ SI8631 chip Spare Part 1,0
D20 SA-HOP-RAV-RAL9011-LOWER Subassembly, Housing lower part ECO black RAL 9011 Only used for 12v versions 1,0
D23 SAP-MP-BRACKET-RAV+CC Subassembly, Bracket ECO+compact housing 1,0
D25 EB-CON-100V-12V-120MA Convertor board 100V 12V 120MA Option: 12v without printer or other external devices 1,0

Product changes reserved

1/2



Print date: 18/07/2024

Nr. Item code Description Special instructions Quantity
D51 CA-2-0,75-FLAT Cable 2x0,75 flat - per meter 1,0
D57 EP-FUSE-3,15A Fuse 5x20 3,15A 1,0
D58 EP-FUSE-HOL-FL Fuse holder floating 1,0
D75 PT-EL-EP-F4-RAL3000 Pallet truck semi-electric, F4, RAL3000, w/ caster wh Ergo-Truck 2 1,0
D91 EB-4-LC-21-41 Junction board 4xLC 1,0
D94 MP-MP-6 Mounting plate load cell 6 mm 8,0
D94 MP-MP-3 Mounting plate load cell 3 mm 4,0
D103 SA-IN-32-RAV-ERGO-F4-RAL3000 Subass., i3200, RAVAS Ergo-Truck 2, RAL3000 1,0
D106 SA-HO-SYN-JUNCTION Subassembly, Junction box with bolts and screws 1,0

Product changes reserved

2/2



